
[Event "desperado tactic 1"]
[Site "?"]
[Date "????.??.??"]
[Round "?"]
[White "?"]
[Black "?"]
[Result "*"]
[FEN "N4k1r/pb3ppp/1p1b1n2/2p1p3/2P5/4PN2/PP3PPP/R1B2RK1 w - - 0 1"]

*

White will lose the Na8 but can make a desperado move : Nxb6!
This way White will get a pawn before losing the kNight ..
(White can also play Rd1, attacking the Bd6, and then capture the Na8)



[Event "desperado tactic 2"]
[Site "?"]
[Date "????.??.??"]
[Round "?"]
[White "?"]
[Black "?"]
[Result "*"]
[FEN "r2q3k/1p1r3n/p1p1p3/4Pp2/2NP1Pp1/2P2Q1R/PP4P1/2KR4 w - - 0 1"]

*

Black just did g5-g4, attacking 2 White pieces by a 'fork'.
White will lose one of those 2 pieces but has a desperado move : Rxh7+
This is check, so Black can not capture the Queen.
After Kxh7 White will save the Queen.



[Event "?"]
[Site "?"]
[Date "????.??.??"]
[Round "?"]
[White "?"]
[Black "?"]
[Result "*"]
[FEN "r3k2r/4nppp/3ppq2/p7/1bPP4/2N5/PP1B1PPP/R2QR1K1 w kq - 0 1"]

*

Here White played a2-a3, forcing Bb4xNc3.
Now White has the in-between move : Qa4+
This forces the Black King to move and he can no longer castle,
which gives White an advantage.
After the Black King moves, White will capture the Bc3.



[Event "?"]
[Site "?"]
[Date "????.??.??"]
[Round "?"]
[White "?"]
[Black "?"]
[Result "*"]
[FEN "Nr6/1k2rppp/5n2/8/8/7P/5PP1/R4RK1 b - - 0 1"]

*

Black captured the kNight : Rb8xa8
Black expected White to recapture by Ra1xa8
but White made the in-between move : Rf1-b1+ !
Now the Black King must move and no longer cover Ra8,
which will be captured next turn.



[Event "London Chess Classic tournament 2010"]
[Site "London, England"]
[Date "2010.??.??"]
[Round "?"]
[White "GM Magnus Carlsen"]
[Black "GM Hikaru Nakamura"]
[Result "*"]
[FEN "6k1/4q2p/1p1R2p1/5p2/8/4P1PP/b4PB1/2rQ2K1 w - - 0 1"]

*

Black just captured on c1 with the Rook and he expects White to recapture.
But here White has the in-between move : Rxg6+
In fact this move is a desperado : after hxg6 White will capture the Rc1.
By this tactic White is a pawn up and thus won this game.



[Event "European Club Cup"]
[Site "?"]
[Date "2002.??.??"]
[Round "?"]
[White "GM Vereslav Eingorn"]
[Black "GM Loek van Wely"]
[Result "*"]
[FEN "3rrk2/R4pp1/2q1p2p/1pb1P3/2p3Q1/2P1B2P/1P3PP1/5RK1 w - - 0 1"]

*

Qf3!
This a double attack on Qc6 (which is undefended!) and f7 (Qxf7 will be mate!)
The best Black can do is Qxf3 but then White does the in-between move : Bxc5+
This way White won a piece.



[Event "USSR Championship 1986"]
[Site "USSR"]
[Date "1986.??.??"]
[Round "?"]
[White "GM Oleg Romanishin"]
[Black "GM Vassily Ivanchuk"]
[Result "*"]
[FEN "2kr3r/pp1bb2p/4pnp1/2p5/2Qq1B2/2N2B2/PP3PPP/R3R1K1 w - - 0 1"]

*

White is a pawn down but the Black King is under attack, and White is much better : 
he could exchange Queens by Qc4xd4, which opens the c-file, and win the game,
but he spotted the in-between move : Nb5!
Now Black can not capture Qc4 because of Nxa7#
So Black tried Bxb5, but before recapturing Qxb5 White spotted the in-between 
move : Bxb7+!  This way Black was mated soon.



[Event "?"]
[Site "Sofia"]
[Date "1967.??.??"]
[Round "?"]
[White "GM Florin Gheorghiu"]
[Black "GM Wolfgang Uhlmann"]
[Result "*"]
[FEN "5rk1/5ppp/2q1Pn2/2p5/p3R2P/P5P1/5PB1/Q5K1 w - - 0 1"]

*

White played Qxf6!
Black can't play gxf6 because of Rg4+ and then Bg2xc6 : White won a piece.
After Qxf6 Black makes the in-between move Qc6xRe4 !
But then White has the forcing in-between moves Qxf7+! Rxf7 exf7+
Finally White recaptures Qe4.


